

# BID BULLETIN 01

Date: 06 December 2022

**Project Title:** Supply and Delivery of Hardware and Construction Supplies (GOODS-23-06)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

## I. LIST OF REQUIREMENTS

(1st Envelope) TECHNICAL COMPONENT ENVELOPE					
Legal Documents					
1	PhilGEPS Certificate of Registration (Platinum)				
Technical Documents					
2	Statement of All On-Going Government & Private Contracts				
3	Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php <b>1,551,967.14</b> .				
	Or				
	Statement of at least two (2) similar completed contracts w/ total amount of at least Php 1,551,967.14 and the largest of which should be at least PhP <b>775,983.57</b>				
4	Bid Security				
5	Technical Specifications				
6	SCHEDULE of Requirements/Production and delivery schedule				
7	Manpower Requirements				
8	After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment and 3 months for supplies)				
9	Original Duly Signed Omnibus Sworn Statement				
Financial Documents					
10	The Supplier's Audited Financial Statements				
11	Net Financial Contracting Capacity (at least Php 6,207,868.54)				
	Or				
	Committed Line of Credit (at least Php 620,786.85)				
(2 <sup>nd</sup> Envelope) FINANCIA	AL COMPONENT ENVELOPE				
12	Original of duly signed and accomplished Financial Bid Form				
13	Original of duly signed and accomplished Price Schedule(s)				



### Please take note:

1. In the Technical Specifications, bidders must state either "Comply" or "Not Comply" against each of the individual parameters of the specifications per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (Data Sheets), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of ITB Clause 3.1(a)(ii) and/or GCC Clause 2.1 (a)(ii).

### 2. Bidders are advised to use the latest GPPB forms for the following documents:

- a) Omnibus Sworn Statement
- b) Performance Securing Declaration (if applicable)
- c) Price Schedule for Goods Offered
- d) Bid Form
- e) Bid Securing Declaration

These forms can be accessed from the GPPB website: https://www.gppb.gov.ph/downloadables.php. Documents that are not in its updated/latest format shall be a ground for disqualification of the bidder.

### II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Scan <u>per document</u> into Portable Document Format (PDF) and should be printable.
- 2. Properly label all scanned documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration (Platinum)	PhilGEPS
2.	Statement of On-Going Government & Private Contracts	Statement of On-Going Contracts
3.	Statement of Bidder's Single Largest Completed Contract	SLCC
4.	Statement of at least two (2) similar completed contracts	Statement of Completed Contracts
5.	Bid Security	Bid Security
6.	Technical Specifications	Technical Specifications
7. 8.	SCHEDULE of Requirements/ Production and delivery schedule	Schedule of Requirements
9.	Manpower Requirements	Manpower Requirements
10.	After Sales service/parts	After Sales
11.	Omnibus Sworn Statement	Omnibus Sworn Statement
12.	Audited Financial Statements	Audited Financial Statements
13.	Net Financial Contracting Capacity	NFCC
14.	Committed Line of Credit	CLC
15.	Bid Form	Bid Form
16.	Price Schedule	Price Schedule



3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.

- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at **jessamine.ecleo@vsu.edu.ph** before the deadline.

### **III.** Changes in the Bidding Documents

Original	
Original         Section I. Invitation to Bid         5. A complete set of Bidding Documents may be acquired by interested Bidders on 21 November – 14 December 2022 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding	<ul> <li>(Amendment)</li> <li>5. A complete set of Bidding Documents may be acquired by interested Bidders on 21 November <ul> <li>14 December 2022 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Ten</li> </ul></li></ul>
Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Ten Thousand Pesos (PhP 10,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	Thousand Pesos (PhP 10,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.
	The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following details: Account Name: Visayas State University Fund
	164 Account Number: <u>3572-1000-13</u> Then send the deposit slip to <u>jessamine.ecleo@vsu.edu.ph</u>



<b>Section II. Instructions to Bidders</b> 15. Sealing and Marking of Bids	<i>(Additional Instructions)</i> Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.
	For filing purposes, the bidders are urged to use <b>Light Blue</b> envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

## IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

ltem No.	Description	Unit	Qty	ABC/Unit (Pesos)	Total ABC (Pesos)
1	Bulb, LED, 9W	piece	66	150.00	9,900.00
	Brushless Angle Grinder Tool 125mm				
2	Adjustable Speed Lithium-Ion Electric	set	1	8,000.00	8,000.00
2	Cordless Grinding compatible with Makita	SEL		8,000.00	8,000.00
	48V tools and Accessories				
	Same Fleet with existing tools and				
	accessories				
	125mm Wheel Diameter				
	No-Load Speed: 9,800 r/min				
	Continous Rating Input: 900W				
	Powered by 48V Lithium Ion Battery				
	2 Batteries included with 1 Charger				
	Anti-slip side handle can install on the left or				
	right side, for comfortable operate handling				
	Comes with Professional Hard Carrying Case				
3	Expansion bolt, 3/8"	рс	300	45.00	13,500.00
	HEAVY DUTY High Quality				
	LED Headlamp Rechargeable Head Lamp				
4	Zoom Waterproof Headlight Flashlight USB	unit	3	300.00	900.00
	Charging				
	Wattage: 30w				
	Halogen lamps Beam Angle : 180°				
	Waterproof : Yes				
5	LED Bulb, 9 watts, warm white, 220-240V	рс	39	200.00	7,800.00
	High Quality				
	Certified Product Quality				
	New generation of LED Bulbs				
	Uniformed lighting with micro interlaced				
	optics technology inspired by the beehive				
	Reduces glare by up to 35%				
	Designed for reliability: lasts up to 15,000				
	hours				



$\smile$			1		
	Socket size: E27				
	Wattages: 9W				
	Warm White (3000k)Workable within 1v-				
	240V				
6	Electrical, (PVC) Clamp, 3/4", with nails	рс	100	8.00	800.00
7	Glue, (Fast Drying Adhesive), 3g	piece	10	150.00	1,500.00
	Premium Quality Adhesive, Strong Bonding				
	Solution				
8	Ladder, 2x7 steps, twin steps, heavy duty,	unit	1	2 500 00	3,500.00
0	aluminum	unit	1	3,500.00	3,300.00
	Heavy Duty				
	Aluminum				
	Max Load Capacity: 200 kg				
	Height: 152 cm				
	When ladder is opened up: 47 x 98 x 152, cm				
	Unit Weight: 4 - 5 kg				
	Unit Dimensions: 47 x 19 x 152, cm				
9	Pipe Fittings, (PE) coupling 1" (black)	рс	15	150.00	2,250.00
	HEAVY DUTY	•			,
10	Paint Brush, 4"	pcs	18	40.00	720.00
11	Paint Brush, 2"	pcs	10	45.00	450.00
12	PVC Solvent with brush, 125 cc	can	9	60.00	550.00
	PVC Solvent 125 cc with brush				
	Double Sided Tape, Industrial, Outdoor Use,				
13	Heavy Duty, 25mmx 2m	roll	20	200.00	4,000.00
	ISO Certified				
	Heavy Duty				
	High Quality Tested				
	Delivers a strong, permanent bond on				
	contact				
	Strong, weather-resistant foam tape				
	designed for multipurpose outdoor use				
	Weight Capacity: can hold 1.5 lb of weight				
	per inch				
	Delivers a strong, permanent bond on				
	contact				
	Strong, weather-resistant foam tape				
	designed for multipurpose outdoor use				
14	Paint, Hammerite Silver, 250 ml	can	20	100.00	2,000.00
<u> </u>	Premium Quality Paint				_,000.00
15	Butane gas, 250gms	can	8	150.00	1,200.00
16	Epoxy, A & B (Liter/set)	set	1	750.00	1,000.00
10	All Purpose Structural Adhesive	500	-	, , , , , , , , , , , , , , , , , , , ,	1,000.00
	Premium Grade				
	Silicone Lubricant Spray, Specialist High				
17	Performance, 360ml	can	6	450.00	2,700.00
	High Quality				
	Stops parts from sticking and can be used on				
	high pressure equipment.				
	Withstands temperatures of -73 °C to +260 °C				





			<u> </u>	I	
	protects against moisture				
	Excellent lubrication on metal, plastic, rubber				
	and vinyl				
4.0	ROHS Compliance		45	200.00	4 5 0 0 0 0
18	Fluorescent Tube, 40 watts	рс	15	300.00	4,500.00
19	Ballast, Fluorescent, 40W	pcs	20	280.00	5,600.00
	■Good quality				
	Durable				
20	Bulb, LED, 15W	pieces	79	300.00	23,700.00
	Wattage: 15 Watts;				
	©Lumens: 1521				
	Color Temp. : Daylight				
	Beam Angle: 200 degrees				
	■Voltage: 170-240 V AC 50/60Hz				
	Bulb Holder: E27				
	■Life Hours: 15,000 hrs.				
24	Material: PC cover Aluminum PCB		10	1 000 00	40.000.00
21	Door Knob	piece	18	1,000.00	18,000.00
	Interior Type Cylindrical Door Knob Lockset				
22	■Good Quality		22	250.00	F 500 00
22	LED Bulb, 13 watts, 87% Energy Saving	pcs	22	250.00	5,500.00
23	Plywood, Marine, 3/4"(thickness) x 4' x 8'	piece	26	1,550.00	40,300.00
24	Standard, Good Quality		7	2 500 00	47 500 00
24	Stand Fan, 405 mm diameter, 220 volts	unit	7	2,500.00	17,500.00
	Durable High-performance motor				
	■3-speed push button switch				
	Thermal fuse protection				
	Oscillation				
25	With height adjustment		25	100.00	40.000.00
25	Bulb, LED, 20 Watts	рс	25	400.00	10,000.00
	■Up to 80% energy savings				
	©Eco-friendly				
	No UV radiation				
	No mercury				
	Wattage: 20 Watts				
	Color Temperature: 6500K				
	Daylight Brightness: at least 1800 Lumens				
	Base: E27,				
	ELifetime: at least  30,000 hours,				
	Power Input: 220-240Vac, 50/60Hz				
26	Extension wire with 4 gang Universal	рс	10	700.00	7,000.00
	Convenience Outlet, at least 10m long				•
	at least 10 amperes wire capacity		26		
27	Plywood, Marine, 1/2"(thickness) x 4' x 8'	piece	36	900.00	32,400.00
20	Standard, Good Quality			500.00	24 202 53
28	Plywood, Marine, 1/4"(thickness) x 4' x 8'	piece	41	520.00	21,320.00
	Standard, Good Quality				
29	Door Closer, Good Quality	set	2	2,000.00	4,000.00
	Max Door Width: 950mm,				
	Max Door Weight: 60kg				



	Arm Type: Adjustable(Standard)				
	■Operating Angle: 180 deg				
30	Extension Ladder, Fiber Glass, at least 21'	unit	1	20,000.00	20,000.00
- 50	Load Capacity: at least 300 lbs	unit	-	20,000.00	20,000.00
	Reaches from 8 ft to an extendable length of				
	13 ft				
	Self-leveling 2-way swivel safety shoes				
	Main Material: Fiberglass				
	Dimension: atleast 268 x 47 x 17, cm				
	Weight: atleast 16.5 kg				
31	Padlock, 50mm	piece	2	630.00	1,260.00
	Heavy Duty, Durable, Good Quality	piece	_		1,200.00
32	Padlock, 30mm	pcs	1	110.00	110.00
52	Solid Brass	- pc5	-	110.00	110.00
33	Good lumber, 2" x 3" x 10'	length	25	600.00	15,000.00
34	Grass cutter set	pc	1	14,999.00	14,999.00
54	Displacement 35.8cc Single Cylinder OHC	pc	1	14,555.00	14,555.00
	Aircooled O.95KW/6500 RPM Recoil starter				
	Diaphragm Carburetor 0.63L tank0.1L oil tank				
	Quality Engine				
	FREE: Nylon Cutter and Metal Blade				
35	Glass Mirror, 1/4"(thick) x 12" x 24"	piece	4	500.00	2,000.00
55	Good Quality	piece	-	500.00	2,000.00
36	Rainboots, Size: 8 (Men), Black	pair	5	365.00	1,825.00
50	Hi-cut, Seamless injection for good	Puil	5	303.00	1,025.00
	waterproofing, Premium Quality				
37	Rainboots, Size: 9 (Men), Black	pair	5	400.00	2,000.00
	Hi-cut, Seamless injection for good	Pan	5	100100	2,000.00
	waterproofing, Premium Quality				
38	Multi-Purpose Penetrating Oil, 382mL	btl	2	650.00	1,300.00
	Product Use: Lubricant, Penetrant, Drives Out				,
	Moisture, Removes and Protects Surfaces				
	From Corrosion				
39	Temperature and Humidity Sensor DHT11	рс	4	270.00	1,080.00
	Operating voltage: 3.3v-5.5v	•			
	Humidity measuring range: 20%-95%				
	Small plates PCB size: 3.2cm x 1.4cm				
40	Silicon Sealant	tubes	12	200.00	2,400.00
	Flex Tape, rubberized waterproof tape 4"		2	250.00	1 050 00
41	wide	pcs	3	350.00	1,050.00
	Thick, flexible, rubberized adhesive Large 4"				
	wide x 5" Roll				
	Color: Black				
	Seals out water, air, and moisture				
	Great for patching large holes, cracks, gaps,				
	and tears				
	Can be applied hot or cold, wet or dry, even				
	underwater.				
	Can withstand temperatures from 70°F to				
	200ºF and extreme weather conditions				
	UV resistant				





42	Gasket maker, high temp RTV, 85g	pcs	12	200.00	2,400.00
43	Thermocouple wire, type K, 100m/roll	roll	1	5,000.00	5,000.00
44	Evaporative Cooling Pad	pad	24	350.00	8,400.00
	1. Corrugated paper with the spatial crossing-				,
	link technology, ensuring high-absorb ability.				
	2. high-water resistance, economic and				
	durable.				
	3. low energy consumption, just one-tenth of				
	traditional air conditioner.				
	4. environment-friendly.				
	5. Dimension:  1500*300*100mm				
	6. Color: brown, green7. Good quality				
45	Retractable Steel Tape, 8m	piece	1	400.00	400.00
	Good Quality, Rugged Rubber				
46	Retractable Steel Tape, 5m	piece	4	500.00	2,000.00
	Good Quality, Rugged Rubber				
47	Cutting Disc for Steel/Stainless, 4"	piece	24	60.00	1,440.00
48	Pipe, (G.I.), 1/2"Ø x 20'	length	4	630.00	2,520.00
	Schedule 40				
	Wall Thickness: 2.77mm				
49	Pipe, (G.I.), 2"Ø x 20'	length	5	2,700.00	13,500.00
	■Schedule 40				
	Wall thickness: 3.91mm				
50	Pipe, (G.I.), 1"Ø x 20'	length	5	1,400.00	7,000.00
	Schedule 40, Good Quality				
51	Pipe Fittings, (PVC), Elbow, 90 deg x 2"Ø	piece	2	39.00	78.00
	Schedule 40, Good Quality				
52	Pipe Fittings, (PVC) Elbow, 90 deg x 1/2"Ø	piece	6	40.00	240.00
	Blue, Schedule 40				
53	Pipe Fittings, (PVC) Tee, 1/2"Ø	piece	6	50.00	300.00
	Heavy Duty, Good Quality				
54	Pipe Fittings, (PVC) Elbow, 90 deg x 1-1/2"Ø	piece	6	155.00	930.00
	Heavy Duty, Good Quality				
55	Pipe Fittings, (PVC) Elbow, 90 deg x 3/4"Ø	piece	6	58.00	348.00
	Heavy Duty, Good Quality				
56	Pliers, 6", Long nose	piece	1	200.00	200.00
	Heavy Duty, Durable, Good Quality				
57	Pliers, 8", Long nose	piece	1	270.80	270.80
	Heavy Duty, Durable, Good Quality				
58	Pipe Fittings, (G.I.), Union, 1/2"Ø	piece	1	120.00	120.00
50	Schedule 40, Good Quality		-	200.00	1 000 00
59	Pipe Fittings, (G.I.), Union, 1"Ø	piece	5	200.00	1,000.00
60	Schedule 40, Good Quality			75.00	200.00
60	Pipe Fittings, (G.I.), Tee, 1/2"Ø	piece	4	75.00	300.00
61	Schedule 40, Good Quality		2	05.00	170.00
61	Pipe Fittings, (G.I.), Tee, 3/4"Ø	piece	2	85.00	170.00
62	Schedule 40, Good Quality	n:	2	100.00	200.00
62	Pipe Fittings, (G.I.), Tee, 1"Ø	piece	2	100.00	200.00
	Schedule 40, Good Quality				
63	SDR 11, Black HDPE Pipe 38.1mm (1 ½ " Ø) x	rolls	1	6,050.00	6,050.00
	60 meters				



64	SDR 11, Black HDPE Pipe 25.4mm (1" Ø) x 100 meters	rolls	2	4,500.00	9,000.00
65	SDR 11, Black HDPE Pipe (1/2" Ø) x 100 meters	spool	1	1,800.00	1,800.00
	Good quality				
	SDR 11, Black HDPE Pipe (3/4" Ø) x 100				
66	meters	spool	1	3,000.00	3,000.00
	good quality				
67	PE PIPE 1/2" STRAIGHT COUPLER	pcs	24	80.00	1,920.00
68	Pipe Fittings, (PVC) Tee, 1"Ø	pc	6	50.00	300.00
	Good Quality; Clean appearance; Water	1	_		
	supply;				
69	Pipe Fittings, (PVC) Elbow, 1"Ø x 90 deg	рс	6	50.00	300.00
	Good quality; Clean;	•			
	Pressure gauge, water, 1/4 NPT Bottom		_		
70	Connection, dual scale	pcs	6	300.00	1,800.00
	60mm dial plate, double scale for bar/psi measurement				
	Clear number markings for convenient and				
	easy readings				
	Plastic outer case, well protect the inner				
	accessories				
	Mini size, convenient to carry				
	Connection: 1/4 inch brass thread side mount				
	Measurement: Range 1: 0~100psi / 0~7bar				
	Thread Type: Range : 1/4 inch NPT				
71	Multimeter, Analog	unit	2	3,000.00	6,000.00
	Measures Voltage, Resistance and				
	Capacitance				
	Good product and Durable				
	Calibrated (with certificate)				
72	Pipe, (PVC) Blue, 1" diameter	length	6	280.00	1,680.00
	standard length, good quality				
72	Professional Heavy Duty Wire Stripper &	coto	2	1 100 00	2 200 00
73	Crimper	sets	2	1,100.00	2,200.00
74	Pipe Wrench #6	рс	2	5,000.00	10,000.00
	Super strength cast aluminum and alloy				
	metal handle.Two way toothing and spring				
	loaded jaw provide positive gripMade of				
	Chromium-Molybdenum steel forged jaws				
	heat treatedHand Tools Type : WrenchesJaw				
	Capacity : 34 mmSize : 6 Inch				
75	Tape, double sided with foam, 20mm x 3m	rolls	10	150.00	1,500.00
	White Double Sided Strong Sticky Self				
	Adhesive Foam Tape				
	For indoor and outdoor use.				
	Weather-resistant and highly conformable.				
	Works on many surfaces including metal, glass, and plastic				
	Holds up to 10 lbs. One inch holds a				
	quarter-pound, four inches hold one pound.				



	■Can be used on a variety of surfaces such as				
	painted cement or brick, glass, metal, tile,				
	ceramic, plastic, and more.				
	<ul> <li>Does not peel off on high humidity areas</li> </ul>				
	Industrial application				
	OC compliant				
76	Gutter, Spanish, big, 0.40mm, thick, Prepainted, White	piece	15	800.00	12,000.00
77	Faucet, Brass (Ordinary)	piece	10	400.00	4,000.00
78	Teflon Tape, 1" x 10m	roll	10	100.00	1,000.00
79	Doorknob, excellent quality	pcs	8	1,100.00	8,800.00
80	Bulb Socket, PVC	рс	9	50.00	450.00
	Standard size				
	⊠round				
	ISO Certified and Good Quality				
01	Paint, TTC, Lamp Black, Oil-Based, 1/4 liter		-	100.00	F 00 00
81	per can	cans	5	100.00	500.00
82	Paint, Roller Cotton, 4"	pcs	6	80.00	480.00
	For repair of ceiling				
83	Roof Sealant, All-Purpose, 1L/can	cans	56	540.00	30,240.00
	Premium Quality				
84	Wood glue	kl	3	450.00	1,350.00
	Good quality				•
85	Paint Brush, 2-1/2"	pcs	18	85.00	1,530.00
	Abrasive Paper, Sand Paper Grit #120, 9" x				*
86	11"	sheet	141	30.00	4,230.00
	Fine Sanding, Waterproof, Good Quality;				
87	Extension Cord, 12 meters	рс	2	650.00	1,300.00
_	12 meters 3 gang Universal Outlet swing type	1			,
	plug, 230V				
	PE Tube for NFT, (Silicone Microtube) 1/4" x				
88	10'	length	2	200.00	400.00
	Drip Irrigation Fitting, Single Barb				
89	Connector, 1/4"	pcs	20	20.00	400.00
90	Submersible Water Pump	unit	1	2,200.00	2,200.00
	Specification:				_,
	■Rated Power: 24W				
	■Voltage: 220-240 V				
	<pre> Frequency: 60 HZ </pre>				
	■Discharge Head: at least 2.5m				
	■Pump Capacity: at least 2,500 L/hr.			<u> </u>	
	Weighing Scale, Top Loading Dial Scale, (20				
91	kg)	unit	2	2,800.00	5,600.00
	Hi-strength flat plate top loading, Spring			<u> </u>	
	loaded Dial Scale, Durable, Good Quality				
92	Glass, Clear, 1/4"(thickness) x 30" x 42"	nieco	1	300.00	300.00
92	Pre-cut	piece	L 1	500.00	500.00
93		niacco	0	200.00	1 600 00
93	Good Lumber, 1" x 2" x 10'	pieces	8	200.00	1,600.00
94	LED Tube with housing (T8), 18 watts, 4ft (Daylight)	set	12	500.00	6,000.00
95	Compact Flourescent Lamp (CFL), 24W Spiral	рс	20	175.00	3,500.00





	type				
96	Cut-off Machine, 14"Ø (355 mm)	рс	1	13,000.00	13,000.00
	Voltage: 220V				
	Rating Input: at least 2,200 Watts				
	Durable, Heavy Duty				
	Blade Diameter: 14" (355mm)				
	Compatible cutting for wood and metal and				
	stone				
	■No-Load Speed: at least 3,800 rpm				
97	Masonry Drill Bit Set	set	1	2,000.00	2,000.00
	Titanium bits for High-Speed Steel				
	Drill size: 1/8, 5/32, 3/16, 1/4, 5/16, 3/8,				
	7/16, 1/2				
98	G.I. Tie Wire #16	kl	168	90.00	15,120.00
	Good Quality				,
99	Nylon Line (Monoline) #300	kl	6	600.00	3,600.00
	Good Quality				
100	Electric Drill Bit Set for metal	sets	1	2,000.00	2,000.00
	Titanium bits for High-Speed Steel			,	,
	■Drill size: 1/8, 5/32, 3/16, 1/4, 5/16, 3/8,				
	7/16, 1/2				
101	Safety Googles Eye Protection	piece	3	260.00	780.00
	Comfort Features Adjustable Temples, Brow	p.000	•		
	and nose bridge, Integrated sideshields,				
	Polycarbonate lens Eyewear Range Economy				
	Frame Material Plastic Frame Style/Type				
	Frameless Lens Coating Anti-Fog Lens Color				
	Clear Product Series Plus Product Type Safety				
	Glasses				
4.0.0	Portable Electric Welding Machine, 300A			10,000,00	40.000.00
102	Inverter	unit	1	10,000.00	10,000.00
	Phase: Single Max. No-Load Voltage: 60V				
	Duty Cycle: 60% Rated output current: 300				
	Amperes Single phase, portable, fan cooled				
	Low energy consumption, light in weight with				
	handle for easy handling				
103	GRASS CUTTER, 4 stroke	unit	1	20,000.00	20,000.00
104	Paint, Latex Flat, White	gallon	10	690.00	6,900.00
	Premium Quality Paint				
105	Paint, Roof, Baguio Green	gallon	10	800.00	8,000.00
	Premium Quality Paint				
106	Nails, Roofing (Umbrella), 2 1/2"	kl	343	130.00	44,590.00
	Twist Shank				
107	Nails, Common Wire, 1"	kl	16	90.00	1,440.00
	Smooth Shank				
108	Nails, Common Wire, 2"	kl	15	90.00	1,350.00
	Smooth Shank				
109	Nails, Common Wire, 3"	kl	15	90.00	1,350.00
	Smooth Shank				
110	Cement, Portland	bag	60	300.00	18,000.00
	Type 1P, Premium Quality	Ŭ			



	OASTM C150				
111	Nails, Common Wire, 4"	kl	165	90.00	14,850.00
	Smooth Shank		100	50.00	1,000100
	Steel Bar, Deformed(Corrugated),10mm x				
112	6m	length	645	250.00	161,250.00
	©0.616 kg/M PNS 230				
	Solution (Spin 1 to 200)				
113	LED Bulb, 15 watts	pcs	30	300.00	9,000.00
114	Caution barricade tape	roll	20	285.00	5,700.00
	Barricade Tape with CAUTION legend, Yellow,	1011	20	203.00	3,700.00
	3-Inch Width, 1.5-4.0 Mil thicknesses, High				
	Tensile Strength, Non-Toxic (Lead Free), Non-				
	Flammable, UV Resistant Ink, Remains				
	Flexible in Cold Weather. One roll is				
	1000feet.				
445	Extension wire with 4 gang Universal		4	750.00	750.00
115	Convenience Outlet, at least 20 meters long	pcs	1	750.00	750.00
116	Electrical Tape, Vinyl	rolls	80	75.00	6,000.00
	Flame retardant and compatible with				
	plastic cable and wire harness insulations				
	Flexible PVC with aggressive rubber				
	adhesive				
	Primary electrical insulation for all wire and				
	cable splices rated up to 600 volts.				
	■19mm x 16m x 0.155mm				
	■Heavy Duty				
	ASTM approved				
117	Electrical, (PVC) Orange, Flexible Hose, 1/2",	rolls	10	1 200 00	12,000.00
11/	100 meters per roll	TOIIS	10	1,200.00	12,000.00
118	Electrical Outlet, 3 gang universal outlet	ncs	20	150.00	3,000.00
110	with ground, (surface type)	pcs	20	150.00	3,000.00
	10A250V, Heavy Duty, Durable				
119	Electrical, male plug, 3 pin	pcs	20	65.00	1,300.00
	Heavy Duty, Good quality				
120	Electrical Wire, THHN / THWN, AWG 12	boxes	2	6,000.00	12,000.00
120	(3.5mm2), Stranded, 150 meters/box	DUXC3	2	0,000.00	12,000.00
	Building Wire				
	Stranded with Nylon Insulation				
	■Gauge 12				
	OUL listed;				
121	Cutting Disc, 4" (Super Thin)	рс	10	70.00	700.00
122	Paint, cementitous waterproofing	gallons	5	1,000.00	5,000.00
123	Blow Torch, Butane Gas	pcs	5	150.00	750.00
124	Steel Brush	pcs	3	70.00	210.00
125	Paint, Metal Primer, Red Oxide	liter	5	180.00	900.00
	Rust inhibiting primer for steel and iron				
	surfaces				
	Premium quality primer				
126	Electrical Wire, AWG 12 (3 wire/core) Royal	roll	1	12,000.00	12,000.00
	Cord, 75m/roll		-	,000.00	,000.00
	Highly Flexible Conductor Construction				



	PVC Insulated and Jacketed				
	■Flame Retardent				
	■Oil and Gasoline Resistant				
	■UL 62, ASTM B-173, ASTM B_174 Certified				
127	Plywood, Ordinary, 1/4"(thickness) x 4' x 8'	piece	1	350.00	350.00
	Standard, Good Quality	proce			
128	Garden Pruning Shear	piece	1	450.00	450.00
	Hardened Stainless Steel blade		_		
	■Low-friction				
	Heavy Duty, Good Quality				
129	Plywood, Marine, 1"(thickness) x 4' x 8'	piece	5	1,900.00	9,500.00
	Standard, Good Quality	proce		_,	0,000.00
130	Raincoat, Poncho Type, Medium, Brown	piece	8	500.00	4,000.00
100	Heavy Duty, Good Quality	piece	0	500.00	1,000.00
131	Chain Saw	unit	1	8,000.00	8,000.00
101	■Oil tank capacity 0.32L	unit	-	0,000.00	0,000.00
	©Fuel: BSN mix + 2T oil mix				
	Whole machine weight: 7.3 kg (without bar				
	and chain)				
	■Long bar max: 20"				
	Max. speed: 13,500 rpm				
	■Vibration levels (left/right): 7.0/7.0 m/s				
	saws				
132	Mini claw hammer	рс	1	400.00	400.00
152	handle: 12 cm	pc	-	+00.00	400.00
	Head/claw: 8 oz				
	Material: Stainless head/claw, handle with				
	rubber				
133	Standard Soil Auger	piece	1	49,990.00	49,990.00
	Constructed of Stainless Steel				
	Standard auger for all soil types				
	Carbon Steel or Stainless Steel open bit				
	design				
	4 inches diameter; one-piece standard soil				
	auger or "the head"15 / 16 rubber-gripped				
	cross handle or T-handle49 / 55 inches				
	(approximation) extension length or " body				
	tube length"				
134	Concrete Hollow Blocks (CHB), 4"	pieces	250	25.00	6,250.00
	3-Cell Concrete Hollow Block 4"				
	■At least 350psi;				
135	Good lumber, 2" x 4" x 8'	length	3	640.00	1,920.00
136	Nails, Common Wire, 2-1/2"	kilos	3	90.00	270.00
137	Door Hinges 1 1/2 x 3" Loose Pin type	boxes	1	150.00	150.00
	Door Hinges 1 1/2 x 3" Brass type Loose Pin				
	type; 2 pcs per box				
138	Raincoat, Jacket and Pants, Large,	pair	5	500.00	2,500.00
130	Transparent	Pair	5	500.00	2,300.00
	Heavy Duty, Good Quality	ļ			
139	Raincoat, Jacket & Pants, Extra Large,	pair	1	350.00	350.00
100	Transparent	Pan		550.00	550.00



			т т		
140	Heavy Duty, Good Quality		4	450.00	1 800 00
140	Rainboots, Size: 11 (Men), Black	pair	4	450.00	1,800.00
I	Hi-cut, Seamless injection for good				
4.4.4	waterproofing, Premium Quality		2	450.00	4 250 00
141	Rainboots, Size: 10 (Men), Black	pair	3	450.00	1,350.00
	Hi-cut, Seamless injection for good				
	waterproofing, Premium Quality				
142	Raincoat, Jacket and Pants, Large, Mint Green	pair	5	600.00	3,000.00
	Heavy Duty, Good Quality				
143	Paint Roller with handle, 9"	pcs	11	190.00	2,090.00
144	Paint Thinner	gallon	1	500.00	500.00
144	Premium Quality	gailon	1	500.00	500.00
145	Lumber Pinewood, 2" x 4" x 8"	nc	4	630.00	2,520.00
145	Plyboard, 3/4"	pc	4 10		10,000.00
140	Plyboard 3/4 x 4 x 8	pcs	10	1,000.00	10,000.00
1 4 7		drum	2	2 100 00	4 200 00
147	Drum, Barrel Drum, Blue 200-220L capacity MHDPE	drum	2	2,100.00	4,200.00
	Closed Head				
	Good Quality				
4.40	©Clean		20		4 600 00
148	Paint Brush, 2"	pcs	20	80.00	1,600.00
	Durable bristles				
	Heavy duty metal ferrules				
149	Paint Brush, 3"	рс	8	95.00	760.00
150	Glass Cutter	piece	2	500.00	1,000.00
	Diamond Tip, Applicable for ceramic, glass				
	and tiles, Durable and High quality				
151	Nails, Common Wire, 5"	kl	10	90.00	900.00
	Smooth Shank				
152	Abrasive Paper, Sandpaper, #80	sheet	15	30.00	450.00
	Medium Coarse, Premium Grade, Waterproof				
153	Welding Rod, E-6011, 5/32", (20kg/box)	box	2	2,000.00	4,000.00
	Premium Quality				
154	Grinding Stone 4"	рс	54	300.00	16,200.00
155	Paint, Latex, Chocolate Brown	gallon	2	950.00	1,900.00
	Premium Quality Paint				
156	Hacksaw Blade, at least 14 TPI x 12"	piece	15	75.00	1,125.00
	Bi-metal, High-Speed, Durable, Premium				
	Quality				
157	Hacksaw Blade, at least 14 TPI x 10"	piece	2	50.00	100.00
	Bi-metal, High-Speed, Durable, Premium				
	Quality				
158	Welding Gloves	pair	2	500.00	1,000.00
	ISO and CE certified				
	EN12477 Type-A protection for				
	welding and thermal jobs				
	Suitable for stick and MIG welding, as well				
	as torch cutting and grinding				
	Premium split cowhide leather and welted				
	seams				





	Cotton lining provides thermal insulation				
	Source of the second se				
	forearm				
159	Wood Glue	liter	6	250.00	1,500.00
160	Cutting disc, 4"Ø (100mm), (Segmented)	pcs	5	250.00	1,250.00
	Durable and Heavy Duty		-		
	Hole: at least 20mm with 16mm reduction				
	ring				
	Speed: at least 15, 300 rpm				
	Ideal cutting for granite, marble, and ceramic				
	products				
161	Wood Filler	liters	4	500.00	2,000.00
162	Blade, Circular saw	pcs	2	3,000.00	6,000.00
	12" x 300mm holes x 36T				
163	Wire, Duplex #12, PDX	meters	20	50.00	1,000.00
164	Electrical Gloves (Medium)	pair	2	650.00	1,300.00
	ISO and CE certified				
	Heavy Duty and good quality material for				
	electrical safety				
	High resistance and insulating rubber				
	material				
	Atleast 12KV high-voltage insulating gloves.				
165	V-shape reflective vest yellow green with	nc	2	350.00	700.00
103	adjustable strap	рс	2	330.00	700.00
	High Visibility				
	ISO and CE certified;				
166	LED Tube, 18 watts	sets	5	600.00	3,000.00
	Box Type Enclosure				
	At least 1,600 lm				_
	At least 120 degree beam angle				
	Good quality, Durable				
167	Screwdriver, Precision Set, 11 pieces with	set	1	150.00	150.00
	case		_		
	Heavy Duty, Durable, Good Quality				
	Includes: 1x 1.0mm Screwdriver 1x 1.2mm				
	Screwdriver 1x 1.4mm Screwdriver 1x 1.8mm				
	Screwdriver 1x 2.4mm Screwdriver 1x 3.0mm				
	Screwdriver 1x #00 Phillip Screwdriver 2x #0				
	Phillip Screwdriver 1x #1 Phillip Screwdriver				
	1x AWL Screwdriver; Safety Gloves, Cotton knitted with Latex				
168	Orange Coated Palm	pair	10	65.00	650.00
	Statige coaled Paint Second Paint <td></td> <td></td> <td></td> <td></td>				
	movements and comfortable and flexible.				
	Wear-resistant			<u> </u>	
	©Oil resistant				
	Corrosion resistant			<u> </u>	
	Electrical Wire, Bare ACSR, (Stranded) # 4 for			<u> </u>	
169	neutral line	meters	500	70.00	35,000.00
170	Pole, Galvanized Steel (Hexagonal), 40'	pieces	6	35,000.00	210,000.00





		1	r	1	
171	Pole, Galvanized Steel (Hexagonal), 35'	pieces	10	35,000.00	350,000.00
172	Cross Arm, steel, 8 feet (standard )	pieces	10	3,000.00	30,000.00
173	Steel Brace (Flat), 28" span with locknut & washer	pieces	30	2,000.00	60,000.00
174	Steel Pin Pole with Polymer insulator, 15 KV	pcs	10	1,500.00	15,000.00
175	Electrical, Dead end suspension clamp,	cotc	17	1 380 00	21 760 00
1/5	polymer insulator type	sets	17	1,280.00	21,760.00
176	Electrical, Quadrant Dead End Clamp	pcs	20	600.00	12,000.00
177	Eye Bolt (Hot Dip Galvanized), 5/8" x 10" with lock nut & washer	pieces	100	300.00	30,000.00
178	Machine Bolt, 5/8" x 10" ,(Hot dip galvanized) with locknut & washer	pieces	30	500.00	15,000.00
179	Electrical, Hot Line Clamp	pcs	20	500.00	10,000.00
180	Swing clevis with insulator	set	50	800.00	40,000.00
181	G.I. Wire rope Clip U-Bolt, 1/2"	pcs	20	200.00	4,000.00
182	Electrical, Galvanized Guy Clamp, 3 bolt"	pcs	32	255.00	8,160.00
183	15 Amperes, Type K Fuselinks, 10pcs/box	boxes	8	3,185.00	25,480.00
	15 Amperes, Type K Fuselinks, 23" length, removable head, stainless steel strain wire and a silver copper fuse wire fuse element (ANSI, IEEE, NEMA certified)				
184	25 Amperes, Type K Fuselinks, 10pcs/box	boxes	8	3,185.00	25,480.00
	25 Amperes, Type K Fuselinks, 23" length, removable head, stainless steel strain wire and a silver copper fuse wire fuse element (ANSI, IEEE, NEMA certified)				
185	30 Amperes, Type K Fuselinks, 10pcs/box	boxes	7	3,185.00	22,295.00
	30 Amperes, Type K Fuselinks, 23" length,				
	removable head, stainless steel strain wire				
	and a silver copper fuse wire fuse element				
	(ANSI, IEEE, NEMA certified)				
186	Pole Top Pin with Polymer insulator	set	30	1,000.00	30,000.00
187	Electrical, Ground rod with clamp, at least 3/8" diameter x 10'	pieces	20	2,000.00	40,000.00
188	Connector, Aluminum, 2/0 split bolt type	boxes	100	270.00	27,000.00
189	Solderless Connector 1/0 AWG Split Type	sets	20	900.00	18,000.00
190	Solderless Connector 2/0 AWG Split Type	sets	20	1,000.00	20,000.00
191	Electrical, Solderless Copper Connector, 4/0	pcs	10	3,000.00	30,000.00
192	Screw Porcelain Insulator, (Big)	pcs	52	80.00	4,160.00
193	8 amperes, Type K Fuse links, 10pcs/box	boxes	5	2,950.00	14,750.00
	8 Amperes, Type K Fuselinks, 23" length,				
	removable head, stainless steel strain wire				
	and a silver copper fuse wire fuse element				
101	(ANSI, IEEE, NEMA certified);		_	2.050.00	44750.00
194	10 Amperes, Type K Fuse links, 10pcs/box	boxes	5	2,950.00	14,750.00
	10 Amperes, Type K Fuselinks, 23" length,				
	removable head, stainless steel strain wire and a silver copper fuse wire fuse element				
		1			
	(ANSI, IEEE, NEMA certified); Machine Bolt (Full Thread), 5/8" X 24" with				





196	Machine Bolt, 1/2" x 10" with nut & washer	set	100	300.00	30,000.00
197	Machine Bolt, 1/2" x 6" with nut & washer	set	100	250.00	25,000.00
198	Aluminum Parallel Groove Connector #2/0 Bolt	pcs	100	150.00	15,000.00
199	15 KV ACSR/AW-OC Wire, Insulated, Stranded, 22 mm2	meters	3500	240.00	840,000.00
	15 KV ACSR/AW-OC Wire, Insulated, Stranded 22 mm2;				
200	Eye Nut, 5/8"	pcs	100	150.00	15,000.00
200	Eye Bolt 5/8" x 8' with nut & washer	set	100	300.00	30,000.00
202	Carriage Bolt, 3/8" x 5"	piece	90	5.00	450.00
202	Good Quality	piece	50	5.00	130.00
203	Paint, Red Oxide Primer	gallons	62	520.00	32,240.00
203	Ridge Roll, 0.5mm x 16"	pcs	80	690.00	55,200.00
204	Ridge Roll, 0.6mm x 2.40 big, pre painted	pcs	180	600.00	108,000.00
	Paint, Semi Gloss Latex, Megacryl,	pes	100	000.00	108,000.00
205	Stationery, Davies-delete	gallons	18	950.00	17,100.00
	for repainting;				
206	Paint, Semi Gloss, Megacryl, Beige Naturelle, Davies-delete	gallons	14	950.00	13,300.00
	for repainting;				
207	Paint, Cheeze Yellow, Davies Sun and Rain- Delete	gallons	24	950.00	22,800.00
	for repainting;				
208	Paint, Semi Gloss Latex, Megacryl, Infinite Peach, Davies-delete	gallons	20	950.00	19,000.00
	for repainting;				
209	Paint, Semi Gloss Latex, Megacryl, Moon Light, Davies-delete	gallons	12	950.00	11,400.00
	for repainting;				
210	Paint, Semi Gloss Latex, Megacryl, Bridal White, Davies-delete	gallons	10	950.00	9,500.00
	for repainting;				
211	Paint, Roofing, Stone Slate	gallons	8	1,000.00	8,000.00
212	Paint, QDE, Maple	gal	12	950.00	11,400.00
	Premium Quality Paint;	-			
213	Acrytex Cast	gal	10	750.00	7,500.00
214	Skim Coat, 20kg/bag	bag	30	550.00	16,500.00
	Good water vapor permeability				
	Excellent bonding to concrete;				
215	Paint, TTC, Raw Sienna, Oil, liter/can	cans	30	120.00	3,600.00
216	Paint, TTC, Lamp Black, Oil-Based, 1/4 liter per can	cans	20	120.00	2,400.00
217	Wood Stain, Oil, Dark Oak	can	10	200.00	2,000.00
<b>-</b>	1liter/can;				
218	Lacquer Thinner, 4L	gallons	20	630.00	12,600.00
219	Paint, Roofshield, Casa Blue	gallon	100	1,000.00	100,000.00
220	Pipe, (G.I.), 4"Ø x 20'	length	25	6,900.00	172,500.00
	Sched. 40;				
221	End Cap, G.I., 4"	pcs	50	750.00	37,500.00
	Sched. 40;				



222	Sheets, (G.I.) Corrugated, Gauge 26 (0.551mm) 12'	sheet	570	990.00	564,300.00
	Standard width, Good Quality;				
223	Sheets, (G.I.) Plain ,Gauge 26 (0.551mm) x 8'	sheet	50	600.00	30,000.00
	Standard, Good Quality				
224	Paint, Latex, Semi Gloss, White	gallon	80	950.00	76,000.00
	Premium Quality Paint				
225	Paint, Latex Flat, White	gallon	60	800.00	48,000.00
	Premium Quality Paint				
226	Paint, QDE, White	gallon	20	850.00	17,000.00
	Premium Quality Paint				
227	Paint, Flat Wall Enamel, White	gallon	10	820.00	8,200.00
	Premium Quality Paint				
228	Paint Thinner	gallon	10	590.00	5,900.00
	Premium Quality				
229	Paint, Lacquer Sanding Sealer	gallon	20	890.00	17,800.00
	Premium Quality				
230	Paint Lacquer Type, Lacquer Flo	gallon	10	900.00	9,000.00
231	Pipe, (G.I.), 3"Øx 20'	length	10	5,000.00	50,000.00
	Schedule 40 Wall Thickness: 5.49mm				
232	Pipe, (G.I.), 2-1/2"Ø x 20'	length	143	3,700.00	529,100.00
	Schedule 40Wall Thickness: 5.16mm				
233	Welding Rod, E-6012, 1/8", (20kg/box)	box	6	3,500.00	21,000.00
	Premium Quality				
234	Paint, Metal Primer, Red Oxide	gallon	10	900.00	9,000.00
	Premium Quality				
235	Coco Lumber, 2" x 6" x 12'	pcs	150	350.00	52,500.00
236	Nails, Common Wire, 1-1/2"	kg	50	90.00	4,500.00
237	Nails, Common Wire, 2-1/2"	kg	50	90.00	4,500.00
238	Tile Adhesive Additive	gals	50	1,000.00	50,000.00
239	Sand, Washed	cu.m.	20	1,500.00	30,000.00
240	Sheets, (G.I.) Corrugated, Gauge 26 (0.40mm) 12'	sheets	600	990.00	594,000.00
241	Sheets, (G.I.) Plain ,Gauge 26 (0.551mm) x 8'	sheets	30	600.00	18,000.00
242	Nails, for Fiber Cement Board, 1"	kilos	40	150.00	6,000.00
243	Fiber Reinforced Cement Board, Lightweight, 4' x 8'	sheets	205	550.00	112,750.00
244	Cement, Portland	bags	500	330.00	165,000.00
				TOTAL:	6,207,868.54

Jenars 2

**DILBERTO O. FERRAREN** BAC Chairman